The upcoming test on Thursday March 10 will evaluate 3 expectations:

· T3 - identify and represent sinusoidal functions, and solve problems involving sinusoidal functions, including problems arising from real-world applications.
· T1 - determine the values of the trigonometric ratios for angles less than 360º; solve problems using the primary trigonometric ratios
· F1 - make connections between the algebraic and graphical representations of functions using transformations;





1. The number of hours of daylight in Ottawa is shown in the graph below
a. Identify the key features, and briefly interpret/explain them in the context of the question.
b. Sketch and label, on the same axes below, a possible graph of the hours of daylight:
i. In the Yukon
ii. On a planet that spins once every 10 hours (earth spins every 24 hours) and goes around the sun once every 200 days (earth goes around every 365 days)
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2. Halley’s comet orbits the sun once every 76 years. The distance, in astronomical
 units (AU), from the comet to the sun can be approximated by the equation 
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, where t represents the time, in years, since 1986. 
a) approximately how far is Halley’s comet from the sun right now? Justify your answer.
b) what is the closest the comet comes to the sun?
c) For how much time during one orbit is the comet further than 30 AU from the sun?
 Include a sketch.
d) A space probe is launched from earth its distance from the sun is modeled by
 the equation 
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. How many times are the comet and space 
probe the same distance from the sun? Justify with a sketch.




Complete the table.

	Parent function
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	Transformed function g(x)
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	Transformed function g(x)in terms of  f(x)
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	Description of transformations
	
	
	

	Input Output Diagram
	
	
	

	Graph
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Review for Trig in 360 degrees:  p.338 #2a,3-5 p.304 #8bd,9,12, 13�(add a little more about csc, sec, cot





MAKE SURE YOUR CALCULATOR IS IN DEGREE MODE…2nd 	MORE		Degree		Enter





These window settings should be useful for starting question 6:


Xmin: -5�Xmax: 100


Ymin: -5


Ymax: 50 
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